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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76-

77-

78-

79-

80-

81-

82-

83-

84-

86-

87-

Mike, who just started work at the company two years ago, --------- the top post in the
personnel department.

1) offered 2) had offered 3) had to offer 4) has been offered
Have you ever enjoyed an ad but forgotten -----—-- right away?

1) what product it was for 2) was it for what product

3) what product was it for 4) for what product was it

I am here to help those people ---—----— information about where to go if they are really
interested in seeing the city’s historical sites.

1) nccded 2) nccding 3) arc nceded 4) that thcy nced
This writer believes a short story should be short enough —------- read it in one sitting.

1) for a person be able to 2) so that a person can

3) to read for a person to be able to 4) to be able for a person who

Use the Internet to research the price, ---------, style, and durability of two items that are
for sale.

1) manner 2) mattcr 3) quality 4) trade

Although Tom had changed his voice while talking to me on the phone, I, nevertheless,
recognized him very ----------

1) commonly 2) quickly 3) regularly 4) previously

When her child was late, the mother became -----—---- and called the school.

1) involved 2) informed 3) distracted 4) concerned

The virus is entircly new, and rescarchers are trying to undcrstand how it --—--—-,

1) rises 2) catches 3) spreads 4) overcomes

I was surprised at his —-—--- to help me; after all, we have been friends since we were
children.

1) rctusal 2) spcculation 3) scparation 4) possibility

The financial performance of the business is fully ------—-- to improve. That is why
cveryonc in the company is so hopcful.

1) realized 2) followed 3) expected 4) cxplored

The tactory worker has decided to look for a more exciting job because in her present
job she only has to do some --------- work all day long.

1) flexible 2) repetitive 3) central 4) economical

I am so sorry for what my husband said and for any --------- it might have caused.

1) embarrassment ~ 2) imagination 3) contrast 4) memory
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

89-
90-

91-
92-

Whatever your field of study, you will create a strong impression when you
communicatc by phonc; this can bc cither good or bad, and may wcll last. It is thus
(88) —mmmmm oo for any important telephone calls in advance, so that your listener will
(89) --------- find out the reason for your call immediately and (90) --------- not just to
listcn, but (91) --------- what you want him to. Tclcphone communication is not as
straightforward as it may seem, and the fact that we cannot see facial reactions and that
misunderstandings may more easily (92) --------- and be more difficult to handle must
always be born in mind.

1) important for you prepare 2) to prepare importantly

3) the importance for preparation 4) important to prepare

1) briefly 2) silently 3) easily 4) orally

1) encouraged 2) will be encouraged

3) to encourage 4) they be encouraged

1) does 2) doing 3)todo 4) who does
1) arise 2) show 3) include 4) operate

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

Jour questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

93-

94-

PASSAGE I:

For thousands of ycars, pcoplc have tried to find ways to keep food for longer. In the
past, this was important as people needed to save fresh food for times when it was hard
to find, such as the winter. Today there are still many places without electricity and
people living in these places need to preserve food in ways that don’t use refrigerators.
They need to make food last as long as possiblc.

Drying is the oldest type of food preservation. If water is removed from food, the
bacteria can’t grow. In ancient times in hot countries, people simply lefi fruit and meat
outside to dry in the sun and the wind until all its natural watcr was gonc. This made
the fruit last a very long time. Drying fruit sometimes results in a completely new
product. For example, grapes turn into raisins and plums turn into prunes. Drying food
in the sun does not work in cooler or wetter climates, but people have other methods to
prcserve food in cold placcs.

The word “preserve” in paragraph 1 is closest in meaning to ---—---—--- .

1) nced 2) find 3) last 4) save
What is the subject of paragraph 2?

1) How food preservation prevents the growth ol bacteria

2) Types of food that can be preserved

3) Importance of food preservation

4) A food preservation technique

forum.konkur.in



www.konkur.in

1 Ao 652-D RSN

95-

96-

97-

98-

100-

In paragraph 2, what is the role of the example of “grapes turn into raisins and plums
turn into prunes”?

1) To describe an unusual event

2) To support an earlier statement

3) To describe a food preservation mechanism

4) To emphasize the function of fruit as a food source in the past

The passage is most likely to continue with a discussion of -—------.

1) different ways used by people in cold regions to prepare food stuff
2) why drying was first used in hot countries

3) some other [ood preservation methods

4) how people in cold places found food

PASSAGE 2:

One single person cannol be named as the one responsible for the invention of the
cinema. In fact, Lots of people played a part in the development of the cinema. A man
called Muybridge made the first moving picture in 1878. Tt was a film of a horse
running and it was only a few seconds long. By 1895, other people had invented
various machines for showing moving pictures, but many of these could only be
watched by one person at a time. The development of machines that could project
films onto a screen was important. Thomas Edison was onc of the first to show very
short films to audiences of 20 or more people. His films showed acrobats performing,
or everyday events like a man eating!

At first, films were only a few minutes long. They were black and white and silent.
They were usually documentaries about different places or news events, or comedies
showing people falling over and making funny faces. Later they became longer stories,
but there was still no sound. Instead, there might be a musician playing a piano in the
hall whilc the film was shown.

Musicals were probably the most popular kind of film throughout the 1930s and
1940s. A very famous actress and singer at that time was Shirley Temple—she was a
five-ycar-old girl cveryone loved watching perform on stage.

What question is paragraph 1 mainly intended to answer?
1) Who invented films?

2) What did early films look like?

3) Why were carly films short and simplc?

4) 1low long did the cinema take to become popular?

The word “they” in paragraph 2 refers to -----——-- .
1) films 2) documentaries
3) funny faces 4) places or news events, or comedies

The passage refers to all of the following as scenes shown in films EXCEPT --—-—--- .
1) someone singing on stage

2) a man eating some sort of food

3) somconc doing acrobatic movements

4) a musician playing a musical instrument

Which of the following can be concluded about films in the 1930s and 1940s?

1) They were still watched by a few people at a time.

2) They were not only visual but also audio.

3) They still did not have any storylinc.

4) They were musicals only.
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

101- What have you been doing with yourself since 1 last ---——————- you?
1) had seen 2) saw
3) would have seen 4) see
102- The manager got such bad temper --—---—--—-- nobody ever dares to criticize him.
1) which 2) when 3) after 4) that
103- My sister promised to water my plants while I was away, —-----—-- they all died.
1) afterwards 2) although 3) whereas 4) but
104- The fact that bacteria are capable of chemical communication first emerged from
investigations into marine bacteria --—-----—-—- in the dark.
1) able to grow 2) are able to grow
3) to grow the ability 4) for the ability of growth
105- She says that he loves her ---------- vase.
1) glass big green Italian 2) green big Italian glass
3) big green Ilalian glass 4) Italian big green glass
106- For many hours wc discussed ----——-—-——- we had to lower the price; however, we failed to
reach a conclusion.
1) that 2) so that 3) whether 4) that when
107- - in a cool place, this bread will last for weeks.
1) Storing 2) Stored 3) To store 4) For storing
108- It’s his fault she left him; he ===—==-—- have been nicer to her.
1) must 2) could 3) should 4) might
109- Only after we had left the ship -———-—------ the captain had remainced.
1) did we realize 2) we realized
3) that we realized 4) where we had realized
110- In 1979, Mother Theresa won the Noble Pcace Prize, ---—---- she was criticized by some
people who believed she heaped the poor but had not contributed to world peace.
1) becausc of that  2) as soon as 3) for which 4) for that

Part B: Vocabulary

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes
the sentence. Then mark the correct choice on your answer sheet.

111- Mark used to have a speech problem, but he’s ---—--- it and is now an actor.
1) annoyed 2) accessed 3) forecast 4) overcome

112- The future of the police force in this town is a ~—--—-—-—- for public debate.
1) degree 2) matter 3) message 4) function

113- They have a helpline, but it’s -——————- ; they always put you on hold every time you ring,.
1) uscless 2) robotic 3) artificial 4) immediate
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114- Offshore drilling platforms ---------- the occan bed for oil and gas.
1) rccognize 2) speculatc 3) obscrve 4) cxplore

115- Ms. Rafstedt had borrowed heavily to ---——-——- — the building of a new house and found
herself deeply in debt, which led her to commit the robbery.
1) spend 2) providc 3) financc 4) cstimatc

116- I sent a photo of my house by email to a friend in Canada, but it took ages to upload and 1
spent ====--=--- twenty minutes online just waiting for it to go.
1) calmly 2) nearly 3) repetitively 4) fortunately

117- Hc made the point that to disagrece is cveryone’s right, but a ——-—-——-- of responsibility is
also important.
1) sense 2) case 3) mood 4) concern

118- Shrinking habitats arc a thrcat to biodiversity in terms of both plants and animals, and
cndangered species nced legal protection if they are to ————-—-- .
1) arise 2) survive 3) suffer 4) prevent

119- Check out our latest smartphone—you’ll love its innovative =====—---,
1) scences 2) fcaturcs 3) manncrs 4) outlincs

120- The sound quality of a digital voice recorder is ------—---- to that of an analogue one.
I hence recommend that you buy a digital one.
1) common 2) necessary 3) superior 4) suitable

121- She’s 2 —————- individual. T don’t think sh¢’ll ever scttle down in a job.
1) sedentary 2) selfish 3) flexible 4) restless

122- A doomsday scenario for the emvironment sees our destiny as a world choked with
pollution, where many plants and animals have become ---—--—-—-—— .
1) cxtinct 2) harmful 3) ancicnt 4) dcstructive

123- This idea has long been -————--—-—- to Keynes, but in fact he was not the first to think of it.
1) transferred 2) proposed 3) contributed 4) attributed

124- Grafting some fixed relaxation time onto a busy ---—-—---—-—-- may lcad not only to a lcss hectic
lifestyle, but also to a healthier mind and body.
1) interval 2) cognition 3) schedule 4) involvement

125- Hcalthy cating docsn’t have to be about deprivation. You can include anything in your

dict as long as it isn’t caten to ———-—-—-——- .
1) excess 2) capacily 3) abundance 4) expectation

Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then
mark the correct choice on your answer sheet.

126-

127-

1) When we got home to find water through the kitchen ceiling was coming.

2) Through the kitchen ceiling was water coming when we got home to find.

3) Wc got home to find that we had water coming through the kitchen ceiling.
4) Finding we had water coming through the kitchen ceiling after we got home.

1) Becausc you belicve m what you arc doing, you should not Ict anything hold you up
in your work.

2) Because you believe in what you are doing, so you should not let anything hold you
up in your work.

3) Because you believe in what you are doing, you should not let anything in your work
with it be held up.

4) Because you believe in what you are doing, you should not let anything in your work
to be holding you up.
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128-

1) Overweight people by the time they reach middle age in danger they are to develop
diabetes, warn doctors.

2) Overweight people, doctors warn that, develop diabetes by the time they reach
middle age as a danger.

3) Doctors warn that overwcight pcoplc arc in danger of developing diabetes by the
time they reach middle age.

4) As it is warncd by doctors that the danger of developing diabetes by the time they
reach middle age overweight people are.

129-
1) However ticket sales are at a 10-year high, more than before flights are ever delayed
or are cancelled.
2) With ticket sales being at a 10-year high, more than ever before are flights they
delayed or cancelled.
3) Although ticket sales are at a 10-year high, but more flights are delayed or cancelled
than they did ever before.
4) Although ticket sales are at a 10-year high, more flights are being delayed or
cancclled than cver beforce.
130-

1) There has been a mission was manned to the moon since over 30 years.
2) A mission manned to the moon over 30 years have been ever since.

3) Over 30 years has been since a manned mission was to the moon.

4) It has been over 30 years since a manned mission to the moon.

Part D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice

(1), (2), (3), or (4) that best completes the blank in the conversations. Then mark the correct
choice on your answer sheet.

A: Hi. How are you? Don’t you normally work on Fridays?
B: Yeah, but T had to talk to you. It couldn’t wait.

A: Oh, sure ... (131) -———----?
B: Well, I need to get something off my chest.
A: That’s good, because there’s been something (132) ----------, too.
B: Let me go first. This is important.
131- 1) How is that 2) So what 3) What’s up 4) How is it going
132- 1) on edge 2) on my mind 3) on the line 4) back on my feet
A: How long has this milk been in the fridge?
B: (133) -—-——- . Check the expiration date.
133- 1) Break the Ice 2) Beats me
3) Get a move on 4) Lamc cxcusc

A: Hi ... Excuse me. Could you tell me where the nearest subway stop is?

B: Yeah... Four blocks that way, and a block to the left.

A: Thanks. Do you (134) ----——-———- if I take a load off? I’ve been walking forever.
B: No ... Go ahcad. Arc you new to the city?

A: Yeah. I just moved here two weeks ago.

B

: What (135) —-——--—— you here?
A: Well, in a nutshell, [ guess, [ wanted to make a clean break, you know, start
ovcr.
B: I hear ya. I’m trying to turn a new (136) -----———-- myself.
134- 1) call 2) mind 3) reckon 4) disturb
135- 1) takes 2) pulls 3) draws 4) brings
136- 1) leaf 2) way 3) wind 4) hand
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A: Hi. There you are!

B: Hi. Glad you caught me. I was just packing up shop.

A: T was almeost (137) --——-— the door too; then I remembered you wanted to get
together this weekend. You still feel up to it?

B: (138) --——-—--- , but you’re not gonna stand me up like you did last week, are you?

A: Are you still stewing over that. Cut me some slack. It wasn’t my fault; something
happened at the last minute. There was an emergency.

137- 1) up 2) off 3) out 4) through
138- 1) [ do 2) Never mind
3) No way 4) Comc on, plcasc

A: We need to talk.

B: Can this (139) --———--- ? It’s after two. 1 am tired.

A: You’re hardly ever home. We can’t put this off any longer.

B: Fine. What?

A: We want to talk about your life.

B: Here it comes ...

A: You need to be more responsible. You stay out too late. You’re not taking your
graduation scriously.

B: (140) --—---—-—-- .1 do have a job, you know.
139- 1) wait 2) ever last 3) hold on 4) hang up
140- 1) Turn a deaf ear 2) Give me a break

3) Keep it in the dark 4) Give me a piece of your mind

Part E: Cloze Test

Directions: Questions 141-155 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Pcoplc arc living longer—the number of older persons (those aged 60 and above) is
expected (141) ---------- globally by 2050, according to the UN. Developing countries
will see the largest and quickest increase to the number of older persons among their
demographics. (142) ---------- an example, the percentage of people aged 60 and over
(143) --mmmmmmm- in India currently stands at 7.5% with this figure set to rise (144) --—-----
11.1% by 2025. The ageing population faces challenges in (145) ---------- that their
social, cconomic and hcalth nceds arc met.

In developing countries, many older citizens are (146) ---------- to live independent
lives for numerous reasons (147) ---------- : inadequate infrastructure both in the home
and m public; limited access 10 healthcare professionals (particularly for those living in
rural arcas); unaffordablc mecdical trcatment for chronic conditions; and little, if any,
access to social security (148) --------—-- pensions.

Thesc (149) ---------- to indcpendcent living mcan that in India, around 85% of aged
persons depend on others for their day-to-day maintenance and (150) ---------- are fully
dependent on others, according to the National Sample Survey Organization.

Whilst (151) ---------- it was the norm for parents to live with their extended
familics, there 1s now (152) ---------- nuclcar family units and children moving away to
urban areas to work and live. When an elderly relative needs care, it 1s common to see
(153) -=-==----- the responsibility of one family member without the support of the wider
family. Solc carcrs often find they have to (154) ------—-—--- schooling or work
opportunities, become socially isolated and (155) ---------- mental and physical health
issues because of their caring duties.

141- 1) doubling more than 2) more than doubled
3) to morc than doublc 4) and doubled morc than
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142- 1) From 2) For 3)In 4) As
143- 1) they live 2) living 3) to be living 4) are living
144- 1) to 2) at 3) for 4) up
145- 1) fulfilling 2) relying 3) ensuring 4) maintaining
146- 1) exciting 2) mspiring 3) neglecting 4) struggling
147- 1) why they include 2) to include
3) they are included 4) which include
148- 1) or 2)as 3) nor 4) either
149- 1) merits 2) hurdles 3) objections 4) accessibilities
150- 1) half ncarly the clderly 2) half of ncarly clderly
3) the elderly half of them nearly 4) nearly half of the elderly
151- 1) respectfully 2) supcrficially 3) traditionally 4) variably
152- 1) an increasing number of 2) the number increasing
3) the number of increasingly 4) an increase in number of
153- 1) caring duties to become 2) caring duties become
3) dutics for caring to become 4) dutics to carc has bccome
154- 1) anticipate 2) generate 3) pursue 4) forgo
155- 1) develop 2) develops 3) to develop 4) they develop

Part F: Reading Comprchension
Directions: In this part of the test, you will read three passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

156-

PASSAGE 1:

The rain forest island of Borneo, the world’s third largest island, is one of the most
biodiversc places in the world. [t is home to cndangerced animals such as thc Sumatran
tiger, the Sumatran rhinoceros, the pygmy elephant, and the Bornean orangutan. Sadly,
this island’s diverse and beautiful rain forest is in danger. In the past 20 years, 80
percent of the rain forest has been destroyed because of illegal logging, forest fires, and
dcvelopment. At the samce time, pcople arc capturing and sclling somc of the wildlifc,
particularly the orangutans. We need to protect Borneo because it is home to so many
different species, and because the rain forest helps reverse damage from climate change.

I’s important to protect Borneo so that we can save all the different forms of life
that live on the island. Thousands of species of plants, animals, and insects live there.
Many, like the pygmy elephant, cannot be found anyplace else on Earth. In addition,
scientists continue to find new species of plants and animals. Some of these might
provide medicincs for discascs, or tcach us morc about biology.

We also need to protect Borneo—home of one of the world’s remaining rain
forests—in order to protect the globe from climate change. Carbon dioxide, a
greenhouse gas, is heating up the Earth’s almosphere and causing a number of problems
such as extreme weather and melting polar ice. Rain forests absorb carbon dioxide and
create more oxygen. They also help produce rain all around the world. If we lose rain
forcsts, we will losc onc of our best weapons against global warming.

Which of the following best describes the organization of the passage?

1) A hypothesis is statcd and cvidence 1n its support is prescented.

2) A problem is identified, and two hypotheses are advanced to resolve it.

3) A phenomenon is mentioned, and the reasons for combating it are discussed.

4) A common claim is investigated, and an alternative outlook is analyzed and
criticized.
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157-

158-

159-

160-

161-

162-

163-

164-

165-

Which of the following is NOT stated about the rain forest island of Borneo?
1) It is a place where orangutans are captured by people to make money.

2) It 1s an island valued most because its nature is still pristine.

3) Some of its wild animals are on the verge of disappearance.

4) It is noteworthy for its biodiversity.

Which of the following is unique to Borneo?

1) Sumatran tiger 2) Illegal logging

3) Bornean orangutan 4) Pygmy elephant

Which of the following does the author compare to “weapon”?

1) Borneo 2) Oxygen 3) Rain forest 4) Carbon dioxide
The tone of the passage could best be described as ---—------.

1) Alarming 2) Indifferent 3) Emotional 4) Commendatory

PASSAGE 2:

If our closcst rclatives arcn’t sclf-awarce, 1s there any chance that a computer can be? In
seeking (o make a machine that can pass the so-called Turing test—that is, produce
responses that would be indistinguishable from thosc of humans—artificial intclligence
has proved to be a substantial disappointment. Yct passing thc Turing test may be an
unfair measure of Al progress. In “On Computational Wings: Rethinking the Goals of
Artificial Intelligence,” Kenncth M. Ford and Patrick J. Ilaycs maintain that the
obscssion with the Turing test has led Al rescarchers down the wrong road. They draw
an analogy with artificial flight: engineers for centuries tried to produce flying
machines by mimicking the way birds soar. But modern aircraft obviously do not fly
like birds, and fortunately so. From this argument, Ford and llayes note that Al is
effectively all around us in instrumentation, in data-recognition tasks, in “expert”
systems such as medical-diagnostic programs and in search software, such as intelligent
agents, which roam cyberspace to retrieve information.

Several more formal AT projects exist. One is that of Douglas B. Lenat of Cycorp,
who for more than a decade has been working on CYC, a project that aims to create a
machine that can share and manage information that we humans might consider
common scnsc. Another is that of Rodney Brooks and Lynn Andrea Stein, whose team
has produced Cog, a humanoid robot whose makers hope to endow with abilities of a
conscious human, without its necessarily being conscious.

What does the passage mainly discuss?

1) Ways to cnhance Al testing 2) Rcasons why Al 1s only a myth

3) Projccts depending on Al testing 4) The progress madce i developing Al
Which of the following is true about the Turing test, according to the passage?

1) It is a product of Al

2) Some scholars do not consider it very reliable.

3) It grew out of scientists’ disappointment with AT

4) Attempts are now being made to improve its function.

Which of the following best describes Ford’s and Hayes’ attitude toward the current state
of progress in the field of AI development?

1) Optimistic 2) Mildly ncgative

3) Pointedly critical 4) Disbclicving

The word “another” in paragraph 2 refers to ---—----—-,

1) Aim 2) CYC 3) Project 4) Machine

Which of the following statements is true about Cog?

1) The people who developed it were more than two.

2) It is being made such that it can pass the Turing test.

3) It can manage information rclated to human common scnsc.

4) It can consciously carry out tasks humans can typically do as well.
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166-

167-

168-

169-

170-

PASSAGE 3:

Shark eyes are similar to the eyes of other vertebrates, including similar lenses, corneas
and retinas, though their eyesight 1s well adapted to the marine environment with the
help of a tissue called tapetum lucidum. This tissue is behind the retina and reflects
light back to it, thereby increasing visibility in the dark watcers. The effectivencss of the
tissue varies, with some sharks having stronger nocturnal adaptations. Many sharks can
contract and dilate their pupils, like humans, something no teleost fish can do. Sharks
havc cyelids, but they do not blink because the surrounding water cleans their cycs. To
protect their eyes some species have nictitating membranes. This membrane covers the
cycs while hunting and when the shark is being attacked. Howcver, somc spccics,
including the great white shark , do not have this membrane, but instead roll their eyes
backwards to protect them when striking prey.

The importance of sight in shark hunting bchavior is dcbated. Some bclicve
that electro-and chemoreception are more significant, while others point to the nictating
mcmbranc as cvidence that sight 1s important. Presumably, the shark would not protcct
its eyes were they unimportant. The use of sight probably varies with species and water
conditions. The shark’s field of vision can swap between monocular and stereoscopic at
any timc. A micro-spectrophotometry study of 17 specics of sharks found 10 had only
rod photoreceptors and no cone cells in their retinas giving them good night vision
while making them colorblind. The remaining seven species had in addition to rods a
single type of cone photoreceptor sensitive to green and, seeing only in shades of grey
and green, are believed to be effectively colorblind. The study indicates that an object’s
contrast against thc background, rathcr than color, may bc morc important for objcct
detection.

The word “it” in paragraph 1 refers to -—--—---—- .

1) shark eye 2) tissue

3) marine environment 4) retina

According to the passage, teleost fish are not able to ===-==---- .

1) make adaptations when there is ample light

2) see when the environment is dark

3) contract and dilatc their pupils

4) see as well as sharks do

Why has the author stated the following statement in paragraph 27?

“Presumably, the shark would not protect its eyes were they unimportant.”

1) To highlight a feature integral to shark survival

2) To support one particular side of a debate mentioned earlier

3) To cast doubt on the importance of the nictating membranc in shark hunting

4)To compare the varying significance of sight in sharks from one condition to another

Which of the following is NOT supported by the study reported in paragraph 2?

1) An objcct’s contrast against the background is likcly to be morc important for sharks
for object detection than color is.

2) Sharks have either rod photoreceptors or cone cells in their retinas, but not both at
the same time.

3) Some sharks have good night vision but are colorblind.

4) Not all sharks can see in shades of grey and green.

Which of the following is the principal rhetorical function of the whole passage?

1) Definition 2) Classification

3) Function description 4) Process description
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Teil A: Grammatik

---—————— mein Auto in der Werkstatt liegt, muss ich mit dem Bus zur Arbeit fahren.

1) Ob 2) Als 3) Weil 4) Sodass

Bei Auslandsfliigen ---------- die Fluggiiste sowohl ihren Flugschein als auch ihren Pass
vorzeigen.

1) diirfen 2) wollen 3) konnen 4) miissen

Kalle -====m-- seine frischen Unterwische in die Schublade.

1) lag 2) licgt 3) lcgtc 4) licgte

In welchem Tempus steht der Satz ,,Er musste seinen Wagen in die Werkstatt bringen*“?
1) Perfekt 2) Prisens 3) Futur II 4) Prateritum

Der Satz ,,Wenn er deutlich gesprochen hiitte, hitte ich ihn verstanden® ist ein irrealer
1) Bedingungssatz ~ 2) Vergleichssatz ~ 3) Aussagesatz 4) Wunschsatz

Nicht alle ---------- miissen von einem Fachmann ausgefiihrt werden.

1) Reparatur 2) Reparature 3) Reparatiiren 4) Reparaturen

Ich kann mich immer noch an --—-—--—--- Urlaub in Liibeck erinnern.

1) den 2) der 3) dem 4) das

Julia freut sich ——-—--- , ihre Eltern wicder zu schen.

1) darum 2) darauf 3) daran 4) darin

Du sollst dich auf die Priifungen vorzubereiten, ----—--- den ganzen Tag am Computer zu
spielen.

1) auller 2) anstatt 3) ohne 4) um

Ich habe mit ihm ---—--—--—-—- ein Bayern-Trikot gewettet, dass ich das Rennen gewinne.
1)in 2) an 3) um 4) vor

Dcer Mann, vor ——————-—-- Haus der Unfall passiert war, ist ¢in hohes Ticr.

1) dessen 2) deren 3) denen 4) dem

Bei - Wetter gehen ich und meine Frau oft in den Wald spazieren,

1) schonen 2) schonem 3) schoner 4) schones

Meine Hochachtung gilt --——--- , weil er ein iiberragender Dichter ist.

1)er 2) ihr 3) ihn 4) ihm

Welche der Pripositionen steht nur mit Akkusativ?

1) um 2) vor 3) liber 4) zwischen

Bei welchem handelt es sich um den Komparativ des Adjektivs ,,gern*?

1) gemn 2) gerner 3) licber 4) am licbsten

Teil B: Vokabeln

Scin Vater hat ihn dazu crmuntert, --——--—- zu studicren. Jetzt ist er beriihmter Chirurg.
1) Jura 2) Medizin 3) Informatik 4) Geschichte

Seine hollindische Frau korrigiert seine Fehler, wenn er --——-—--- spricht.

1) Dcutsch 2) Islandisch 3) Norwegisch 4) Nicdcrliandisch
Konnen Sie diesen Fleck entfernen? Der Anzug ist sonst tadellos --——--—————- .

1) glatt 2) sauber 3) trocken 4) bequem
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119- Sie ist seit mehreren Jahren ---------- , sodass ihre Eltern fiir ihren Lebensunterhalt
aufkommen miissen.
1) titig 2) arbcitslos 3) schwangcr 4) crfolgreich
120- Erist ein ~—————- Schiiler. Tch bin zuversichtlich, dass er die Priifung bestehen wird.
1) fleiBiger 2) lausiger 3) lebhatfter 4) alberner
121- Man sollte sich zumindest vor dem Schlafen die Zihne -=-=—----- .
1) baden 2) pulzen 3) wachsen 4) kimmen
122- Dic Kricge im Nahen Osten haben mehrere Tausend Tote -~—--—--—--,
1) gebaut 2) entdeckt 3) gefordert 4) gewonnen
123- Die Sonne --——-—-- den ganzen Morgen und dann auf einmal gab es heftiges Gewitter.
1) schien 2) schneite 3) blitzte 4) donnerte
124- Gcekaufte Warcen kénnen innerhalb von fiinf Tagen ---------- werden.
1) verkauft 2) vernichtet 3) hergestellt 4) umgctauscht
125- Der Ausflug ins Gebirge wurde wegen ---——-— Wetters abgesagt,
1) sonnigen 2) giinstigen 3) schlechten 4) angenehmen
126- Rembrandt gehort zu den grofiten hollindischen Malern. Seine =----—-—- kosten teilweise
mchrere Millionen Euro.
1) Bilder 2) Blicher 3) Filme 4) Sticke
127- Der verspitete Regionalzug aus Mannheim hat Einfahrt auf --——----- 3.
1) Bahn 2) Linic 3) Gleis 4) Schicne
128- Der Sportminister hat heute seinen --——— bekanntgegeben. Er kann nicht mehr
weitermachen.
1) Kader 2) Namen 3) Standort 4) Rucktritt
129- Ich habe mein Auto in der Zeitung zum Verkauf angeboten. Nun warte ich auf -————————- .
1) Anrufe 2) Angriffe 3) Schliissel 4) Diagnosen
130- Sie hat ihn angeklagt, ihren Ring -—-—--—-- zu haben.
1) gckauft 2) geschen 3) gefunden 4) gestohlen

131-

132-

133-

134-

Teil C: Wortreihenfolge

Ordncn Sic dic Worter zu einem grammatikalisch und inhaltlich korrckten Satz!

sich zufrieden geben / mit / miissen / Frau Jakobi / diese Antwort
1) Frau Jakobi musste mit diese Antwort sich zufrieden geben.
2) Frau Jakobi musstc sich mit dicser Antwort zufricden geben.
3) Frau Jakobi mit dieser Antwort musste sich zufrieden geben.
4) Mit diese Antwort musste sich Frau Jakobi zufrieden geben.
haben / die Katze / die Milch / umwerfen / mit / die Flasche

1) Die Flasche mit die Milch hat die Katze umgeworten.

2) Die Flasche hat die Katze mit der Milch umgeworfen.

3) Dic Katzce hat dic Flasche mit der Milch umgcworfen.

4) Die Katze mit der Milch hat der Flasche umgeworfen.
durchaus / es / dass / noch / es / méglich / regnen / heute

1) Dass cs regnet hcute noch, ist ¢s durchaus moglich.

2) Durchaus ist es moglich, dass heute noch es regnet.

3) Dass es durchaus moglich ist, regnet es heute noch.

4) Es ist durchaus moglich, dass ¢s hcute noch regnct.
erschlagen / ein Stock / mit / die Schlange / konnen / er

1) Er mit einer Stock konnte die Schlange erschlagen.

2) Er konnte dic Schlange crschlagen mit cinem Stock.

3) Er konnte die Schlange mit einem Stock erschlagen.

4) Die Schlange mit einem Stock konnte er erschlagen.
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135-

136-
137-
138-
139-
140-
141-
142-
143-
144-
145-
146-
147-
148-
149-
150-

verdursten / schon / diese Wiiste / in / viele Menschen / sein
1) In diescer Wiiste sind schon vicle Menschen verdurstct.
2) Vicle Mcenschen in dicse Wiiste sind schon verdurstct.
3) Schon viele Menschen sind verdurstet in dieser Wiiste.
4) In dieser Wiiste sind verdurstet schon viele Menschen.

Teil C: Liickentext

Erganzen Sie den Text mit den richtigen Auswahlmoglichkeiten!

Viclc Mcenschen (136) ---------- Bricfmarken. Das ist weltweit verbreitet. Dic Zahl der
Sammler (137) ---------- man auf mehr als 60 Millionen. Seit wann gibt es eigentlich
Brielmarken? In [ritheren (138) ---------- musste man jeden einzelnen Briel bezahlen,
(139) - thn die Post annahm. Das machte viel (140) ---------- . Und im Jahre 1840
wurdc von dcr englischen Regicrung dic crstc Bricfmarke (141) ---------- und cingcfiihrt.
Als erste Brielmarke der Well erschien eine 1-Penny-Marke. (142) --------- erschienen
Briefmarken auch (143) ---------- anderen Lindern. In Deutschland, das damals in
einzelne (144) ---—-—-- eingeteilt ~war, wurde die erste Briefmarke
(145) -—=-memmemm 1. November 1849 von der baycrischen Post (146) ---------- . Es war dcr
“Schwarze Linser”. Diese Brielmarke ist heute noch sehr (147) ---------- , Die Sammler
bezahlen dafiir zwischen 2000 und 5000 DM, (148) ---------- diese Briefmarke gar nicht
so selten ist: der “Schwarze Einser” wurde (149) ---------- 832000 mal von den
baycrischen Post (150) ---------- verkauft.

1) malen 2) erstellen 3) schicken 4) sammeln

1) schitzt 2) rechnet 3) hotft 4) stellt

1) Fillen 2) Zciten 3) Lcben 4) Berichten

1) aber 2) dass 3) bevor 4) deshalb

1) Freude 2) Arbeit 3) Spal3 4) Larm

1) erdflnet 2) begriindet 3) eingerichtet 4) entwickelt

1) Nie 2) Dort 3) Bald 4) Unbedingt

1)in 2) an 3) bei 4) auf

1) Kategorien 2) Staaten 3) Stufen 4) Raume

1) im 2) am 3) beim 4) aul den

1) entdeckt 2) gefunden 3) geschrieben 4) herausgegeben

1) stolz 2) nicdrig 3) dankbar 4) bertihmt

1) obwohl 2) sonst 3) dass 4) bis

1) gemein 2) absolut 3) insgesamt 4) vollkommen

1) -karten 2) -dmtern 3) -fachern 4) -gebithren

Teil D: Leseverstehen
Text 1:

Seidenstrale nennt man mehrere Wege, die von Asien nach Europa und umgekehrt
fuhren. Man denkt bei dem Wort vor allem an die Zeit von den alten Romern bis zum
Mittelalter. Den Namen Seidenstralle hat sich ein Wissenschaftler erst viel spiter
ausgedacht. Auf der SeidenstraBle hat man zum Beispiel Seide nach Europa gebracht,
um sie teuer zu verkaufen. Seide ist ein schoner Stoff, den man damals nur in China,
aber nicht Europa herstellen konnte. Andere teure Waren waren Gewiirze und
Edelsteine, aber auch Tee und Friichte wie Aplelsinen. Allerdings haben die Reisenden
manchmal auch Krankheiten mit sich gebracht. Ein Beispiel dafir ist die groe Pest am
Endc dcs Mittclalters. Damals war ¢s schr gefahrlich zu rcisen: Réuber konnten cinem
auflauern. Darum reisten die Handler in Gruppen, den sogenannten Karawanen.
Gemeinsam konnten sie sich besser verteidigen. Die alte Seidenstralle wurde am LEnde
des Mittelalters weniger wichtig. Das Reisen blieb gefahrlich, und die Araber und
andcrc Volker haben Geld verlangt, wenn man ithre Wege nutzen wollte.
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Daher sind die Menschen mit ihren Waren lieber mit Schiffen iiber die Ozeane
gefahren. Heute gibt es wieder einige wichtige Fernstralen durch Asien. Viele Lander
haben sich zusammengeschlossen, um gemeinsam fiir gute Strafien und Eisenbahnen zu
sorgen. Man hat nimlich Rohstoffe wie etwa Erddl gelunden, die man transporiieren will.
AuBerdem stellt man in China viele Waren her, die man giinstig nach Europa bringen will.
Seidenstrafie ist heute ein Welterbe der UNESCO.

Weil in alten Zeiten die Reise in Gruppen —---- — war, reisten die Hindler in Karawanen?
1) sicherer 2) exotischer 3) preiswerter 4) unterhaltsamer
Was geschah am Ende des Mittelalters in Bezug auf die Seidenstralle? Sie wurde -------- .
1) stark zerstort 2) weniger wichtig

3) sehr bedeutsamer 4) vollig unbelahrbar

Welcher Begrift riickt in den Vordergrund, wenn man von einem Welterbe spricht?

1) Testament 2) Familie 3) Kultur 4) Pest

Warum haben die Héandler nach dem Mittelalter ihre Waren nicht auf dem Landweg,
sondern mit dem Schiff transportiert? Weil es sonst --------—- war.

1) tcucr und riskant 2) komisch und absurd

3) illegal und unmoralisch 4) langweilig und einténig

Seidenstralie ist die Bezeichnung fiir mehrere Wege, die zwischen -----—---- verliefen,

1) Asien und Afrika 2) Asien und Europa

3) Afrika und Europa 4) Asien, Europa und Afrika

Laut Text wurden iiber dic Scidenstrafic nicht nur Waren, sondern auch -——---—--
befordert.

1) Ersatztcile 2) Goldbarrcn 3) Krankhcitcn 4) Arbcitskraftc
Zu welcher Zeit gab es die grofie Pest?

1) In der rémischen Zeit 2) Im 18. Jahrhundert

3) Nach dem Ersten Weltkrieg 4) Im Mittelalter

Text 2:

Carl Benz war ein Techniker aus Deutschland. Man nennt ihn den Erfinder des Autos.
Im Jahr 1885 baute er das erste Auto, in dessen Motor Treibstoff verbrannt wird. Eine
bekannte Automarke des heutigen Unternechmens Daimler aus Stuttgart trigt bis heute
den Namen ,Mercedes-Benz“. Geboren wurde Benz im Jahr 1844 in Karlsruhe. Seine
LCltern waren zunichst noch nicht verheiratet, deshalb hatte er erst den Nachnamen der
Mutter: Sein voller Name lautete Karl Friedrich Michael Vailand. Carl, wie er sich
lieber schrieb, studierte schon mit 15 Jahren Maschinenbau. Im Jahr 1871 griindete Carl
Benz ein kleines Unternehmen, das Blech herstellte. Das Geld dafiir hatte er von seiner
Verlobten Bertha Ringer bekommen. Er heiratete sie ein Jahr spiter. Benz griindete im
Laufe seines Lebens mehrere Unternehmen, die er im Streit wieder verlie3. Vor allem
aber triumte er davon, einen Wagen zu bauen, der auch ohne Pferde fahrt. Mit Berthas
Hilfe iiberstand Carl schwierige Zeiten. Im Jahr 1885 war es so weit: Sein Motorwagen
funktionierte. Er musste immer wieder etwas verbessern und meldete Patente an: In
einem Patent erkannte der Staat an, dass jemand wirklich als Erster etwas erfunden hat.
Carl Benz wurde schlieBBlich reich und berithmt, Scine S6hne fithrten das Geschift
weiter. Im Jahr 1929 starb er, mit 84 Jahren. Seine Frau Bertha lebte noch [iinfzehn
weitere Jahre.

Welches Fach studierte Benz, als er noch 15 Jahre alt war?

1) Mathcmatik 2) Elcktrotcchnik

3) Maschinenbau 4) Rechtswissenschaft
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159- In welcher Stadt wurde Carl Benz geboren? In -—————-,
1) Stuttgart 2) Frankfurt 3) Karlsruhe 4) Mannheim

160- Welches Produkt hat Car]l Benz’ erstes Unternehmen hergestellt?
1) Blech 2) Sitze 3) Reifen 4) Chemikalien

161- Welcher Titigkeit ging Carl Benz nach, bevor er sein erstes Auto baute?
1) Maler 2) Techniker 3) Autohdndler 4) Programmierer

162- Benz hat mehrere Unternehmen gegriindet. Er hat diese aber verlassen, weil er -----—-- .
1) eine neue Herausforderung suchte
2) mit deren Finanzierung Probleme hatte
3) mit seinen Kollegen nicht zurechtkam
4) den Anfordcrungen nicht gcwachscn war

163- Wann griindete Carl Benz sein erstes Unternehmen?
1) 1871 2) 1844 3) Mit 15 4) Im Jahrc 1885
Text 3:
Armenien ist ein kleines Land im Kaukasus in Asien, zwischen dem Schwarzen Meer
und dem Kaspischen Meer. Sein Nachbar im Westen ist die Tiirkei. Mitl knapp tiber drei
Millionen Menschen leben hier nur ungefihr so viele Leute wie in der Stadt Berlin.
Armenien ist etwas kleiner als die Schweiz. Deutschland ist sogar etwa zehnmal so grof
wie Armenien. Die Haupistadt Armeniens heilit Jerewan oder auch Eriwan. Sie ist eine
der altesten Stddtc der Welt und glcichzeitig dic groBte Stadt des Landcs. Jercwan ist
etwas grofler als Koln, ein Drittel der gesamten Landesbevolkerung lebt dort. Armenisch
ist die Amtssprache. Eigentlich ist das das Ostarmenische, in 13ndlicheren Gebieten wird
aber auch Westarmenisch gesprochen. Das sind sehr unterschiedliche Dialekte. Die
Armenier koénnen sich deshalb untereinander nicht immer leicht verstindigen. In
Armenien spielt auch Russisch eine wichtige Rolle. is ist zwar keine Amtssprache, aber
Pflichtfach an den Schulen. Auch im Geschifisleben ist Russisch weit verbreitet. In
Armenien werden aber auch noch weitere Sprachen gesprochen. Armenien ist ein
Gebirgsland. Oben im Gebirge kann es sehr kalt werden. In der Ndhe zum Iran wird es
hingegen warm und (rocken. So unterschiedlich ist auch die Tierwelt: Es gibt Adler,
Wildschweine, Wolfe und den Syrischen Braunbiren, aber auch Skorpione.

164- In welchem Zusammenhang wird im Text der Name Iran erwihnt? Im Zusammenhang
mit —-——--——-,
1) dem Klima 2) der Wirtschaft
3) der Geschichte 4) dem Sceverkchr

165- Mit welchem Land wird Armenien in Bezug auf die Grof3e verglichen? Mit -———---—- .
1) Tirkei 2) Frankreich 3) Osterreich 4) Deutschland

166- Welche Feststellung iiber Jerewan trifft nicht zu? Jerewan ist die ------—-- .
1) grofite Stadt des Landes 2) schonste Stadt der Well
3) llauptstadt Armenicns 4) groficr als Koln

167- Armenien liegt laut Text zwischen zwei -——--—-——- .
1) Wiistcn 2) Fliisscn 3) Ozcancn 4) Mccren

168- Welche Sprache spielt auller Armenisch eine sehr wichtige Rolle im Geschéftsleben der
Armenier?
1) Serbisch 2) Deutsch 3) Tirkisch 4) Russisch

169- In welcher Hinsicht wird die Stadt Berlin im Text erwiihnt? In der Hinsicht ihrer -------,
1) Flachengrof3e 2) Nachbarstddte
3) bunten Tierwelt 4) Bevolkerungsanzahl

170- In Armenien gibt es (was die Landschatt betritft) laut Text viele --—----—- .
1) Berge 2) Kiisten 3) Wiilder 4) Simpfe
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Partie A: Structure
Complétez les phrases suivantes en cochant la réponse correcte:

Je cherche =--------- spécialiste pour confirmer le diagnostic de mon médecin traitant.
1)le 2) un 3)du 4) de

J'adore les fétes de Noel et du Nouvel An. ---------- c'est trés agréable.

1) Moi si 2) Moi non 3) Moi aussi 4) Moi non plus
---—-—-— pouvez-vous étre siir de cette information? Nous n'avons aucune preuve.
1) Quand 2) Pourquoi 3) Combien 4) Comment
L'utilisation dcs pesticides a ---------- augmenté ces dix derni¢res années.

1) tres 2) trop 3) asscz 4) davantage
Quelle histoire! Tu ====-==ev a pied car ta voiture est tombée en panne.

1) rcentrais 2) cs rentré 3) rentrerais 4) ¢tais rentré
Je n'aime pas -——-—--—-—-- peinture. Elle est trop chargée en couleur.

1) cetle 2) ces 3) cetl 4) ce

J'ai acheté un portable -——-—--—-—- je ne sais pas me servir.

1) dont 2) que 3) qui 4) ou

Si j'avais pu, —-—-—-- ce roman.

1) je traduis 2) je traduisais 3) je traduirais 4) j' aurais traduit
La championne du monde qui ---------- le titre est une grande nageuse.

1) bat 2) battait 3) a battu 4) batissait

Tl n'cst pas certain que ce projet ---——---- une excellente opportunité pour notre entreprisc.
1) est 2) soit 3) sera 4) serait

J'ai acheté un kilo de fraises; je me demande s'il y en aura pour ---------- .

1) chacun 2) plusicurs 3) quclqu'un 4) tout lc mondc
Il joue tous les aprés-midi -----—--- football dans une salle de I'école.

1) au 2) de 3) par 4) du

Cette chanteuse a une voix superbe; j' -—-—--—--- écouterais pendant des heures.

nr 2)y 3)en 4 lui

Le patron demande que ses ouvriers -—---—- plus ponctuels.

1) seraient 2) seront 3) soient 4) sont

J'ai la téte qui tourne; je ne ---—------ trés bien.

1) mc scns pas 2) m'ai pas scnti

3) me sentais pas 4) me suis pas senti

Le professeur dit qu'il --——----- les copies dans huit jours.

1) rend 2) rendra 3) rendrait 4) aura rendu
--——---— est déja midi, restez déjeuner avec nous.

1) Puisqu'il 2) Comme il 3) Parce qu'il 4) A cause qu'il
---——--— mon arrivée a Paris, j'ai téléphoné a2 mes parents pour leur dire que tout allait
bien.

1) Pendant 2) Depuis 3) Dés 4) Dans

==------— §0it ncuf hecurcs, il n'y a quc dcux étudiants dans la classc.

1) Quoiqu'il 2) Bien qu'il 3) Méme s'il 4) Malgre qu'il
John prononce beaucoup -—-------- Ie francais quc Pcter.

1) lc meillcur 2) mcillcur 3) Ic micux 4) micux
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Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

121- Sortant de son terrier ==-------- me voit et décide de courir avec ses grandes oreilles.
1) le chien 2) le lapin 3) le cheval 4) le mouton
122- A la fin de chaque mois, on doit payer le loyer plus ---------- a4 mon propriétaire.
1) le bail 2) la caution 3) la garantie 4) les charges
123- Lorsqu'on change de domicile, on -------—--- .
1) range 2) arrange 3) déménage 4) emmeénage
124- C'cst un professcur bicn séricux: son attitude ¢cartait toute ------—-—- .
1) famillc 2) familicr 3) familialc 4) familiarit¢
125- Le petit Pierre est orphelin son -=-=--=--- s'occupe de lui jusqu'a sa majorité.
1) fiole 2) parcnt 3) tutcur 4) parrain
126- Le professeur principal de Pierre a conseillé lors d'un -—--—---- de tenter un dialogue.
1) entretien 2) discours 3) interview 4) conversation
127- ---—————— blanche est réservée a l'infirmiére.
1) Un tee-shirt 2) Une blouse
3) Un uniformc 4) Unc combinaison
128- Lec militaire regoit un —--—-——-- pour les services qu'il rend au pays.
1) solde 2) salaire 3) honoraire 4) traitement
129- Cet homme est affreusement radin; il veut tout mais il n'est pas question qu'il -----—----- le
moindre centime.
1) place 2) gagne 3) débourse 4) rembourse
130- Le sport qui se pratique en équipe est ---—-—-- .
1) la voilc 2) lc rugby 3) I'cscrime 4) la natation
131- Ce film est déja ancien mais il repasse a I'écran: c'est -————-—-- .
1) un récital 2) une reprise
3) une partition 4) une représentation
132- ---———-— décidc l'oricntation d'un journal.
1) Lc reporter 2) L'¢ditorialiste
3) L'envoy¢ spécial 4) Le rédacteur en chef
133- Pour soulager ses douleurs rhumatismales, il devrait prendre rendez-vous chez le -—-—--.
1) dentiste 2) diététicien
3) psychologuc 4) kin¢sith¢rapcutc
134- Pour la premiére fois dans ma vie, j'ai -------—- du caviar,
1) gotité 2) dévoré 3) croqué 4) avalé
135- Noel est symbolisé par --------—-—-,
1) un masque 2) un sapin décoré
3) un bouquct dc muguct 4) unc clochc cn chocolat
136- 1l se met a pleuvoir; avec un peu de chance ¢a ne durera pas, une simple ------—-- le soleil
réapparait.
1) brouillard 2) arc cn cicl 3) averse 4) verglas
137- Dec sa mére japonaisce, clle n'avait hérit¢ que ses yeux —-------- .
1) bridés 2) gonllés 3) pochés 4) exorbités
138- Le petit dernier passe son temps a ----——-- son frere; il fait tout comme lui.
1) fouiner 2) couver 3) nicher 4) singer

forum.konkur.in



www.konkur.in

L axiuo 582-D (polasis]) amil 3 b
139- Vous vous faites un ché¢que sans provision quand ------—-- .
1) vous nc faites pas lcs courses
2) vous ne remplissez pas le chéque
3) vous avez emprunté a la banque
4) vous n'avez pas d'argent sur votre compte
140- Ma concierge passe son temps a bavarder; elle a vraiment --------——- bien pendue.
1) la langue 2) le nez 3) la téte 4) I'ceil

Partie C: mise en ordre des mots
Placez les éléments suivants dans un ordre correct:

141- Parle-en-dés-lui-demain!

1) Lui parle dés demain! 2) Demain des lui en parle!
3) Parle Iui en dés demain! 4) En lui parle dés demain!
142- Tls-dit- pas-le-encore-ont-ne-leur
1) Tls ne leur le ont pas encore dit. 2) 1ls le leur ne dit ont pas encore.
3) Ils ne le leur ont pas encore dit. 4) Ont ils dit ne leur pas le encore.
143- Refusé -d'-participer-y-vous-avez
1) Vous avez refusé participer d'y. 2) Vous avez refusé d'y participer.
3) Vous y refusé d'avez participer. 4) Vous y avez refusé d'y participer.
144- J'-en veux- merci- bien
1) J'en veux merci bien. 2) Merci bien j'en veux.
3) Bien merci j'en veux. 4) Bien j'en veux merci.
145- De- errcur- agit- d'-s'-notre-il-unc-part
1) D'unc crreur il s'agit de notre part. 2) D'unc crreur de notre part il s'agit.
3) 1l s'agit d'une erreur de notre part. 4) De notre part il s'agit d'une erreur.

Partic D: Convcersations
Lisez les conversations et répondez aux questions:

146- Nous avons la joie de vous annoncer la naissance de Paul qui se porte 2 merveille. Dans

cette phrase, il s'agit --——--——-- .

1) d'une faire part 2) d'une invitation

3) d'une annonce de déces 4) d'une invitation au mariage
147- Quec dit-on quand on décroche le tél¢cphone?

1) AlLS? 2) Qui cst-cc?

3) Bonjour, vous étes bien chez moi. 4) A qui voulez-vous parler?

148- Bonjour, vous avez réservé?
-Non, mais nous voudrions une table pour quatre svp.
-Bien siir; c'est pour manger ou consommer des boissons?
-Veuillez me suivre svp!
Les personnages du dialogue ci-dessus se trouvent devant ------—--—- .
1) un petit bistrot 2) une table a la cantine
3) un bcau restaurant chic 4) unc pctitc tablc joliment décorée
149- Le pompiste: je vous fais le plein?
Lc client: Vous m'en donnez pour 50 curos.
Le client ---------- au pompiste de faire le plein.
1) defend 2) refuse 3) interdit 4) accepte
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150- Bon six hcures! j'y vais!

151-
152-
153-
154-
155-
156-
157-
158-
159-
160-

-Au revoir, tout le monde!
- Salut Sandrine! T'chao!
-Bonne soirée.

Le dialogue ci-dessus est une mani¢re -----—--- de prendre congé.
1) impolie 2) formelle
3) informcllc 4) profcssionncllc

Partie E: texte a compléter
Complétez le texte suivant a I'aide des réponses proposées:

Le mardi et le mercredi se passérent de la méme facon. En fin de journée, 1l était 3

hcurcs a l'horloge du Caryol. II (151) ---------- restait quatre heurcs de lumicres.

-Fais visiter la borie a Zénobide, commanda le Vieux a son petit fils.

[1 n'avait pas cncorc appris son nom ct s'obstinait a (152) ---------- n'importc commcnt.
Faut dire qu'il était un peu dur d'oreille, et qu'il recevait mal les mots et les répétait
quclqucfois (153) ---------- facon. Surtout quand 1l sortait (154) ---------- son patois
(155) -==-=--m-- de personnes misérables, on l'entendait dire un jour:

-Ils sont dans I'Ardéche complete.

Et comme on voulait (156) ---------- corriger:

-Je sais ce que je dis.

Un autre sorr, 1l faillit faire mourir de rire (157) ---------- sa famille.

(158) -----——--- aurait plutot plcurcr. Il ¢voquait (159) ---------- d'ancicns compagnons dc
chasse avec qui (160) ---------- , au nez et a la barbe des gendarmes, 1ls avaient fumé.

Dy 2) les 3)en 4) leur

1) la nommer 2) I'appeler 3) la prénommer 4) l'interpeler

1) d'étrange 2) de comique 3) de différente 4) de distincte

a 2) de 3) par 4) pour

1) En parlant 2) Parole 3) Parler 4) Parlant

1) le 2) lui 3y 4) en

1) tous 2) tout 3) toutc 4) toutes

1) Puisqu'elle 2) Alors qu'elle 3) Parce qu'elle 4) Bien qu'elle

1) Ic pass¢ 2) l'autre 3) la mémoirc 4) I¢ souvenir

1) déja 2) jadis 3) un jour 4) une fois
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Partie F: Compréhension de texte
Lisez les textes suivants et répondez aux questions:

Texte 1:

Selon un récent rapport de 1'lOTF 20% des jeunes européens dgés de 5 a 11 ans seraient
en surpoids. Un phénomeéne qui s'accélere depuis les années 70.

En la matiere, les bienfaits de la cuisine provinciale riche en crudités et en légumes
vari¢s n'y font ricn: la région mcditcrrancenne cst davantage frappce que lc reste de
'Europe par le phénomene et la France dans son ensemble se situe au milieu de tableau:
cn 2005, 4% d'obcscs chez Ies enfants frangais ct 18% cn surpoids.

La volonté des pouvoirs publics fait que 'on organise peu a peu pour parer au plus
pressé: les distributeurs de sucreries dans les écoles ont été remplacés par des (ontaines
d'eau, voire des automates délivrant des pommes ou autres fruits. La collation de 10
heures dans les écoles a été abolie.

Mais on ne peut pas en rester 13; c'est I'éducation alimentaire des enfants qui est a
modilier en profondeur. Les initiatives se multiplient comme dans la caisse locale
d'assurance maladie qui organise avec les parents et enseignants en liaison avec la venue
dc spccialistes, mcdecins, psychologucs, di¢téticicns dans un ccrtain nombre de classc.
Explications et activités ludiques alternent pour faire prendre conscience aux enfants
des questions relatives a l'alimentation. Sclon Ics responsables, Ic processus prendra des
années pour étre généralisé car c'est toute une mode de vie qui est en jeu.

Le surpoids des enfants a commencé ----------,

1) depuis 2005 2) depuis des anncces 70

3) une vingtaine d'années 4) depuis la présence des fastfood
Malgr¢ le régime alimentaire ---—---——-- , 4% des enfants francais sont obéses.

1) médical 2) européen

3) végétarien 4) mediterranéen

Pour lutter contre 1'obésité, on a remplacé les distributeurs de sucreries par ---—------- dans
les écoles.

1) des fruits 2) des collations

3) des pains complets 4) des bonbons sans sucre

On lutte contre le probleme de surpoids avee ---—----- .

1) dcs alimentation bios

2) des explications et des jeux

3) la suppression des sucreries

4) des régimes et des exercices physiques

Selon les spécialistes le surpoids des enfants -----—----- .
1) prendra du temps

2) sc réglera rapidement

3) influencera sur le mode de vie

4) n'est pas la priorité de la caisse d'assurance
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Texte 2:

Dans le journal Le Monde, on a des bureaux, des tonnes de livres sur la politique, des
blagues super marrantes accrochées aux murs, des journalistes trés sérieux qui passent
des coups de téléphone. Mais on a surtout...ca. Cette table de ping-pong sur laquelle sont
en train de jouer les journalistes, a été installée ici en 2016 avec un objectil, rendre les
salariés du Monde plus heureux au travail.

Et visiblement, ¢a fonctionnc. Quc cc soit dcs tablcs dc ping-pong, dcs cours dc
yoga, des espaces de détente, l'arrivée de ces nouveaux gadgets dans les entreprises a un
nom :"managcment du bonhcur" qui nous vicnt tout droit dcs Etats-Unis. Au d¢but dces
années 2010, certaines start-up de la Silicone Valley ont estimé que des distributeurs de M
el Ms, et des murs d'escalade élaient nécessaires au bien-élre de leurs employés. Ce
phénomene a méme donné naissance a un nouveau métier: responsable du bonheur.

On voit d'ailleurs que le nombre de responsable du bonheur en France reste marginal.
Selon une étude réalisée, leur nombre reste relativement faible. Et cette mission s'intégre
désormais dans d'autres postes en relations humaines. Et [inalement, si tout ¢a ne semble
n'étre qu'une mode, c'est parce que ca ne répond pas a ce que l'on recherche dans le
travail: Ic scns. Avant la révolution mdustriclle, bcaucoup dc méticrs pouvaicnt donner
du sens a la vie en tant qu'artisans ou agriculteurs. Ces métiers ont du sens parce qu'on
produit quelque chosc qui aide tout Ic monde. C'cst au milicu du XVIIIeme siccle, avec
la révolution industrielle, que les taches sont divisées, automatisées. L'employé n'est
alors plus qu'un rouage dans une machine trés productive. Certes le niveau de vie a
augmenté mais le travail a aussi perdu son sens.

Qu'est-ce qui est étrange dans les bureaux du journal du Monde?

1) unc cuisinc gastronomiquc 2) unc collation a 10 hcurcs

3) un distributeur d'alcool 4) une table de ping-pong

Le concept de management du bonheur vient ----—------ .

1) des Etats-Unis 2) de I'Angleterre

3) du ministere du travail 4) du parlement européen

Le métier du responsable du bonheur reste --—-—---—-—- .

1) inexistant 2) est en pleine expansion

3) marginal 4) esl itégré parmi le personnel
[.e management du bonheur semble étre une mode de vie car il ne correspond pas ------- .
1) au scns du bonhcur 2) au travail du syndicat

3) au sens du travail 4) a la productivité des employés
La révolution industrielle a entrainé ----—--——-- .

1) une paternalisme 2) une obéissance des salariés

3) une perte du sens du travail 4) une augmentation des produits
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Teil A: Grammatik

Das ist -==------- Ehrec fiir mich, Sic kennen zu lernen.

1) ein grof3er 2) eine groBe 3) ein grofes 4) einen grof3en
Wic lautet der Genitiv Plural von ,,Monat*?

1) des Monats 2) der Monatc 3) der Monaten 4) den Monaten

Ich rufe Sie zuriick, =======--- ich im Biiro bin.

1) sobald 2) als 3) als ob 4) damit

Herr Rassouli, -—-------- einziger Sohn im Krieg gefallen war, starb heute im Alter von 70
Jahren.

1) der 2) deren 3) denen 4) dessen

Bevor du bei mir vorbeikommst, ----—---—-—- du mich anrufen.

1) darf 2) willst 3) sollst 4) magst

Der Satz ,,Wenn ich nicht krank wiire, wiirde ich euch begleiten* ist ein irrealer -——---—- .
1) Aussagesatz 2) Wunschsatz

3) Vergleichssatz 4) Konditionalsatz

Dic Eltern —---——-- Peter dazu - , in dic Armce cinzutreten,

1) sind gedringt 2) sind gedringen

3) haben gedringt 4) haben gedrédngen

In welchem Tempus steht der Satz ,,Ich hore meine Eltern in der Kiiche sprechen*“?

1) Futur I 2) Prisens 3) Perfekt 4) Prateritum

Im Satz ,Er ist der schncllste Spicler sciner Mannschaft* stcht das Adjcktiv im -——-—--—-- .
1) Elativ 2) Positiv 3) Superlativ 4) Komparativ

In welchem Kasus steht der Artikel im Ausdruck ,,durch den Verursacher«?

1) Dativ 2) Genitiv 3) Nominativ 4) Akkusativ

Teil B: Vokabeln

Herr Voss ist sehr -—--—--—- . Man hat ihn bei der Beforderung iibergangen.

1) wiitend 2) frohlich 3) zufrieden 4) stolz

Pctra hat als Geschenk —----——- bekommen. Sic habcen viel zu hohe Absitze.

1) Sticfcl 2) cin Buch 3) Geld 4) cinc Tasche
Welches Wort passt nicht in die Reihe?

1) Kohlc 2) Hagcl 3) Rcgen 4) Schaucr
Jan interessiert sich fiir --—--—---- . Er geht jeden Mittwoch in den Zoo.

1) Politik 2) Sterne 3) Kunst 4) Tiere

Ich habe langsam die -----—----- voll, ich kann seine Liigen nicht mehr hdren.

1) Hand 2) Nase 3) Faust 4) Tasche
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Teil C: Liickentext
Erginzen Sie den Text mit den richtigen Auswahlmoglichkeiten!

Achim wohnt [Ur ein paar Tage bei Bekannten. Seine Eltern sind (91) ---------- . Als der
Tisch fiir das Abendbrot (92) ---------- 1st, fangt Achim schnell an zu essen. Da wird er
mit folgenden Worten ermahnt: ,,Aber Achim, mein Junge, wie ist denn das bei
(93) ------——-- zu Hause? Wiinscht 1hr euch nicht vor dem Essen guten (94) ---------- ?
Sagt dcin Vater gar nichts?* |, (95) ---------- 1, antwortcte der Junge, ,,Mcin Vater fragt:
Was gibt es denn heute im Fernsehen?"

1) verreist 2) beriihmt 3) grofiziigig 4) unabhingig
1) trocken 2) lackiert 3) gedeckt 4) gelielert

1) dir 2) uns 3) euch 4) ihnen

1) Flug 2) Rutsch 3) Appetit 4) Geschmack
1) Also 2) Aber 3) Dann 4) Doch

Teil D: Leseverstehen

Eine Bank ist eine Firma, der man sein Geld zum Aufbewahren geben kann. Sie
wcechsclt aber auch Geld von ciner Wahrung in dic andere, zum Bceispicl von Euro in
Schweizer Franken. Das Wort Bank kommt aus der italienischen Sprache und bedeutet
,»T1sch®. An so einem Tisch hat man (riiher Geld gewechselt. Es gibt verschiedene Arten
von Banken: Die Staatsbank allein darf Geldscheine in Umlauf setzen. Im Mittelalter
war dies das Miinzrecht, also das Recht, Miinzen zu prigen, denn es gab damals noch
keine Geldscheine. Dann gibt es Privatbanken. In den meisten Lidndern ist gesetzlich
geregelt, welche Geschifte cine Privatbank tdtigen darf.

Welche der folgenden Wihrungen kommt im Text namentlich vor?

1) Euro 2) Krone 3) Pfund 4) Dollar

Welche Bank hat laut Text das Recht, Geldscheine herzustellen und in Umlauf zu
bringen?

1) Nur die Staatsbank 2) Alle grof3en Banken

3) Die privaten Banken 4) Nur die gepriilten Banken

Aus welcher Sprache stammt das Wort ,,Bank*“? Aus dem ---—------- .

1) Dcutschen 2) Englischcen 3) Franzdsischen 4) Italicnischcn

Welche Aussage iiber Miinzrecht ist korrekt? Miinzrecht ---—---—- .
1) ist das Recht, Geldscheine zu drucken
2) bedeutet, Miinzen zu sammeln

3) haben die Privatbanken
4) gab ¢s 1im Mittclalter

In - bestimmt das Gescetz, welche Geschifte die privaten Banken durchfiihren diirfen.
1) wenigen Léndern 2) vielen Landern
3) allen Lindern 4) keinem Land
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Partie A: Grammaire
Complétez les phrases suivantes en cochant la réponse correcte:

Elle a fini par achceter ---------- voiturc qu'clle m'avait montréc dans I'exposition.
1)la 2) de 3) une 4)dela

Mon portable ne donne pas d'antenne ---------- je vais te le passer.

1) non 2) aussi 3) non plus 4) Ic micn si
----—---— aveZz~ VOus trouvé cette maison? - par une agence immobiliére.

1) Quand 2) Combien 3) Comment 4) Pourquoti
J'ai mal a I'estomac; j'ai mangé ------—--—-- de chocolat.

1) tres 2) tant 3) trop 4) assez

J'ai téléphoné 4 ma copine que je -——-—-———- depuis longtemps.

1) n'ai pas vu 2) n'avais pas vu 3) ne voyais pas 4) ne serai pas vu
Admirez comme ----—----- paysage est magnifique!

1) ce 2) cet 3) ces 4) cette

Le dossicr --—---—--- j'ai besoin pour commencer mon cnquéte est introuvable.

1) ou 2) que 3) qui 4) dont

Si tu m'avais donné¢ ces informations plus tot -—--—-—-- plus cfficace.

1) J'¢tais 2) jc scrai 3) jc scrais 4) Jaurais ct¢
Ce sont d'excellentes musiciennes! Je les ai déja ---------- jouer a plusieurs reprises.
1) entendues 2) entendu 3) entendus 4) entendue

Je regrette que tu ne -----—--—- pas venir avec moi a la campagne.

1) peux 2) puisses 3) puisse 4) pouvai

Partic B: Vocabulairc
Complétez les phrases suivantes en cochant la réponse correcte:

Comme ---------- de cet oiseau est cassée, il ne peut pas voler.

1) l'aile 2) le bras 3) la patte 4) la plume
L'accus¢ a cu 10 ans de réclusion: son juge s'cst montré trop ==-=------ .

1) strict 2) sévere 3) sérieux 4) exigeant

La the¢se qu'il soutenait s'est faite a la va vite: clle est ————--—-—- .

1) justifiable 2) soutcnable 3) d¢fectucux 4) ind¢fendable
En hiver, on garde les plantes délicates dans ---------—- .

1) une serre 2) un arrosoir 3) une brouette 4) une plate- bande
J'ai ————- vide: je n'ai rien mangé depuis deux jours.

1) le nerf 2) la peau 3) l'estomac 4) le poumon
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Partie C: Texte a Compléter

Ma jalousie (91) ------——-- a engendré a la mort de mon petit frére un sentiment de
culpabilit¢ (92) ---------- cxplique mon masochisme cn face d'Henri; j¢ me suis fait

I'esclave de cet homme, j'ai accepté de renoncer pour lui a toute réussite (93) - ,
j'ai choisi l'obscurité, la déependance: pour me racheter; pour qu'a travers lui mon frere

mort consentit, enfin (94) - me pardonner. Elle se mit a rire: penser que j'
(95) ---------- avais fait un héros.

1) infante 2) enfant 3) infantile 4) enfantin

1) ou 2) qui 3) que 4) dont

1) personne 2) personnel 3) personnelle 4) personnellement

1a 2) de 3) par 4) pour

Ny 2)en 3)le 4) lui

Partic D: Comprc¢hension de Texte
Lisez le texte suivant et répondez aux questions:

Avez-vous déja eu ce sentiment de grand bonheur au moment ol vous €coutiez votre
musiquc préférée? Un scntiment dc bien-éfre qui vous rcnd plus hcurcux aussi bicn
qu'unc tablette dc chocolat ou un épisode dc votre feuilleton prétéré a la télé. .. Tl ne faut
pas cn rirc, oh non, tout ccci cst trés séricux. Et prouve scientifiquement! La musique fait
du bien, la plupart d'entre nous le savent. Elle nous donne cenvic de chanter, de danscr, de
penser a des choses agréables; elle nous rend méme romantique... Clest
la conclusion d'une étude américaine qui vient de publier ses résultats.

Les chercheurs de 1Université de Maryland (Etats-Unis) ont en effet prouvé que le
ceeur bat plus vite, et que nous ressentfons une sorte de chaleur sur tout le corps quand on
ccoutc unc musiquc quc nous aimons particulicrcment. "Nous savions d¢ja quc
des émotions positives, comme le rire, étaient bonnes pour la santé du cceur. La question
ctait donc dc savorr si d'autrcs ¢motions, suscitces par la musiquc par cxcmplce, avaicnt Ic
méme effet”, a indiqué Michael Miller, directeur au centre médical de I'Université
américaine. Ce méme docteur Miller a constalé que l'effet positif d'une musique agréable
est plus grand que celui du rire. Conclusion: la musique adoucit les ceeurs. Alors, au lieu
de prendre toujours des médicaments, écoutez plus souvent une bonne musique!

Le texte ci- dessus a comme objectif -------—--

1) dc narrer. 2) dc décrire. 3) dc critiquer. 4) d'informer.
Quel sentiment I'écoute d'une bonne musique peut- elle susciter en nous?

1) Colere 2) Bien étre. 3) Mélancolie 4) Satislaction
L.a conclusion de cette étude américaine est ---—-—--—- .

1) effectuée par les journalistes experimentes
2) réalis¢e d'apres une enquéte sur I¢ terrain
3) faite par les psychologues renommeés

4) prouvée scientifiquement

D'aprés le texte, -----—--—-- a un effet plus grand que le rire.

1) Ic sport. 2) lc régime 3) la musiquc. 4) I'activite socialc
D'apr¢s le chercheur américain, I'écoute de 1a musique pourrait remplacer -——------- .
1) T'hospitalisation 2) les médicaments

3) le congé de maladie 4) la visite au médecin
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A. Bbi0epuTe npaBM/IbHbIA BAPHAHT OTBETA:

Hawm ouenp -——-—----- 1A IKCKYpPCus.

1) nonpasunacn 2) molpaBUIIOCh 3) monpaBusICs 4) notpaBUINCE
B Mockrc rucpa ObLIa —————-——- noroya (— 20 rpanycor!).

1) x0s104Hb1H 2) XOJIOUHOE 3) xo0Ji0Has 4) X0)10UHO
AHHA He 3HAET, ——-—---—- 3TO BelIH.

1) yeii 2) ybH 3) ube 4) ubs

Ousra noemorpeaa puibm, -—-----—- YUACTBOBAIU U3BECTIILIE AKTEPDI.

1) xoTopsIit 2) KkoTopas 3) KOTOPYIO 4) B KOTOpOM
S BBITUPAIOCH ----=--=-- .

1) nosyoTerem 2) mo;1orerna 3) nonorerny 4) nmoJyoterre
-------- — HC/ACTIO OH OBIT 0OJICH.

1) Bee 2) Beco 3) Bcro 4) Best

A kiaany KHULY -----—- -

1) cymky 2) B CyMKy 3) Ha cymke 4) B cymke
Mailb4MK Melaer ———--—----- 3alUMATBLCH.

1) cectpy 2) cecTpa 3) cectpe 4) cectpoit
PcOcHOK yiKC ----—-———- .

1) nurn 2) nuer 3) x04uTh 4) xouur
OHa BCTpeTHJIA CTYAEHTRY, --—-—-——- MBI XO/THJTH HAa DKCKYPCHIO,

1) ¢ koTOpOI 2) KOTOPYHO 3) xoropas 4) o koTOpoOii
Ou ne 3a6pL1 -—-----—-.

1) yMue 2) MeHsa s 4) MHOM
-------- — CCTh HOBasi CYMKA,

1) Mos cectpa 2) O moeit cectpe  3) V moeit cectprl  4) Moeit cecTpnl
Harama on11a --—-—--—- .

1) nHa nociteuHen yiekunu 2) Ha HOCIIEUHION JIEKUH O

3) MOCCIHAS JICKIHS 4) NOCACHCH JCKITUN

Tol xoaua Byepa -----—---- ?

1) unTanbpHOrO 3aIa 2) B UNTAJIbHBIN 341

3) B YUTAIBHOM 3aJe 4) uuTaNbHBIN 3211

On nadirozact 3a padoToii Ipy3cid, ====------ 3a1a4H.

1) peliarowicii 2) pClLIAKILINC 3) peluaronias 4) pcuiarolux
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b. I[OI[OJIHI/I'I‘G TEKCT, MCHOJIB3YH HO)IXQ/IHINEE 110 CMBIC/TY CJIOBO.

Onuu mroau, cenu (91) —mmmmeeme- KOMY-HUOY/Tb yCIyry, ®AYT ¢cOC 3a 3TO HATpaay WIN
(92) -----——--- . pyrue, MoxXeT U He XAYT Harpaabsl ¥ OJIaTOJapHOCTH, HO BCE-TAaKU HE
3a0LIBAIOT TOTO, HTO OIM cAeNaid. A MOTOMY CYHUTAIOT TeX, (93) ---------- OIIH CAeNau
100po, ceoummn (94) —--------- . Ho uctunuoe, nacrosiee 100po - 100po TOIbKO TOra,
KOTJd OHO CICIIaHO HC AT ccOs1, a aist (95) ---------- .

1) cuenaer 2) cuenaem 3) cuenator 4) cuenarn

1) Gnaro1apHOCTh 2) Onaro/1JapHOCTAX

3) 6maroJapHOCTIM 4) 611aroJapHOCTHIO

1) xto 2) Koro 3) xeM 4) komy

1) A0JOKHUKK 2) J0JPKHUKAMU 3) AO0JKHUKOB 4) J10JPKHUKOM
1) apyroc 2) Apyroro 3) apyroi 4) npyromy

B. TIpounraiire rekcr u BBIIOJHUTE 32/IaHUS 110CJIE HETI'O:

— EncHa, BbI B aKTCPCKOM OPOQCCCUN Y3KC MHOTO JICT. 34 4TO BbI ¢C NHOOUTC?

— DT0 oYeHb NpUATHas mpodeccrs, IOTOMY YTO MOKHO VIHThCS M COBEPIIEHCTBOBATHCS
0C3 KOHIIA...

— Bb! upuexann B JIoHuoH BMecTe ¢ Tpynnoi rearpa «CoBpeMEHHNK», 4To0bl Chll'PaTh
B nbcce «BuimHerwiii cany. Kakoce y Rac BncuarncHue ot ropoia?

— Tpynua rearpa 34€Ch HAXOUUTCS LIEJNYIO HELEIH0, & s — TOJIbKO 2 AHs. Bpemenu
MaJlo, 10 i BITOOUIACL B ATOT TOPOA ¢ [epBoTo B3rsaaa... Hyxkio Oynetr npuexars
CIO/Ia eIllé.

— Pacckaxute o cBoém crirte. Ort1, KaxkeTcs, TOXe TUIalupyeT aKTepeKyIo Kapnepy?

— B 10-netHeM Bo3pacTe OH BIepBbIe CHICS B KMHO, HO aKTepPCKas IeATEIEHOCTh EMY He
noHparuack, CerojiHs eMmy 18, OH yUnTcst Ha RTOPOM KYPCe PCKHCCEPCKOro
(dakymnbTCTa. ..

— Henarno Bel oTnpasHorany roodunci. Kax nponiio npasaHoranHuc?

— Bbu10 MHOTO HPUSITHBIX CJIOB, LIOAAPKOB; 11O34PABISLIN M OJIM3KKE, U KOJUIETH, 1
MO, KOTOPLIX S IaBIIO TIe BUIENa. .. DTO OBLIIO OUellh IPUATIIO U PaIOCTIIO.

Kro E.1ena Slxos.1e8a no upogeccumn?

1) pexuccép 2) akTpHca 3) JKypHAIHACT 4) XyIOXKHHAK
Ejena npuexana B JloHnoH, 4T00b1 ——---——-- .

1) cHATH GUIBM

2) 11OCMOTPETH '0POA

3) cHITpaTh B CIIEKTaKIe

4) yunuThCA Ha KypcC PCKHUCCEPCKOTO (haKyIpTCTa
Cobin Enensbl SIkoBneBoii xouer ¢c1aTh ---------- .

1) pexuccepom 2) akrépom 3) xKypHAINCTOM 4) Xy LOKHNKOM
Coin Ejienpt ——-——-- .
1) paboTaer B KHHO 2) CHUMaeTCsA B KMHO
3) mW1aHUpPYCT aKTCPCKYH) KApbCpy 4) y4uTCs B YHUBCPCUTCTC
100- HegaBno Enena SIkoBieBa npas3aHoBajaa ---------- .
1) HeHb POXKUSHUS CbIHA 2) Hosbtii rou
3) roOumei 4) JleHb aKTepa
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Capitolo A: Indicate la risposta corretta:

-------- — capitale a Sorane ci sono 150 km.

1) Dal 2) Del 3) Dalla
Lisbona e Varsavia sono ------—--- Europa.

I)a 2)in 3) all'
Luigi e uscito ———=——---- bere qualcosa con gli amici.
1)a 2) di 3)in
Maria abita a Milano ---—---—---- 15 anni.

1) da 2) in 3) pcr
Chi insegna qualcosa a qualcuno e'-----—--- .

1) cantante 2) attore 3) artista

Chi recita una parte in uno spettacolo e --—------,
1) attore 2) giornalista 3) scrittore
-------- — che Gianni non viene da noi.

1) Ci basta 2) Mi rincresce 3) Ci sembra
Prima di andarc a Ictto, Carlo ---—-—-—-- sempre i denti.

1) gli spazzola 2) li spazzola 3) si spazzola

Lo spero che voi -—-------- in vacanza.

1) andiate 2) andate 3) vadano

Noi dubitiamo che tu ---—------- ’inglese.

1) parla 2) parli 3) parlia
Alessandro va fuori purché non --———-—-—-- il raffreddore.

1) ho 2) abbi 3) abbia

Tutte le estati i miei fratelli ----—------ al mare.

1) andaste 2) andreste 3) andrebbero
Marta, hai spedito le nostre lettere? Si, ———---—-—- ieri.

1) ci le spedite 2) ve le spedisco 3) ve le ho spedito
Roberto ¢ ———--——--- bravo --—---—---—-- Dario.

1) tanto-quanto 2) tanta-quanto 3) tanto-piu’
15-Luigi, hai visto Eva? No! Mi aveva detto che ----————— da te.
1) verra’ 2) vcniva 3) venissc
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4) Alla

4) nclla

4) per

4) fino

4) docente

4) cantante

4) Mi sento
4) lo spazzola
4) andino

4) parlo

4) abbiate

4) andavano
4) ve le ho spedite
4) piu -tanto

4) sarcbbc venuta
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Capitolo B: Completate il seguente testo con le parole proposte:

Pictro dicc: Da qualche tempo dormo soltanto duc o trc orc la nottc. E un bel guaio per

me, ma non s0 (91) ------—--- rimediare. Non mi piacciono i vari sonniferi perché, anche
se dormo, mi danno un atroce mal di testa. Per me 1'unico compenso e’ quello dei sogni.
Quando uno dorme male sogna molto, almeno cosi (92) ---------- a me.

E spcsso questi sognt sono interessanti ¢ divertenti. Per esempio stanotte (93) -------
un sogno molto curioso. Ero in campagna; dietro di me c'era un muro molto alto e sopra
il muro c¢'era un soldato. To sapcvo che dall'altra parte del muro, (94) ---------- molti
animali feroci ¢ affamati, ma sapevo anche che io ero fuori di ogni pericolo. Camminavo
per la campagna, guardavo gli alberi e i fiori, ero senza pensieri, assolutamente (95) -----

----- pace

1) cosa 2) che 3) comc 4) pcrché

1) va 2) capita 3) arriva 4) viene

1) ho fatto 2) ho guardato 3) ho visitato 4) ho trovato
1) erano 2) c'erano 3) ci sono 4) vedevano
1) nel 2) con 3)in 4) di

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

Oggi tutti vanno al cincma- sc non stanno a casa a guardarc la tclevisionc. Ma ¢
abbastanza facile trovare qualche denaro per andare al cinema, mentre e spesso un
problcma difficile mettere insicme 1l denaro per comprarce un televisorc. In Italia, d'cstatc
ci sono molti cinema all'aperto. Quando fa molto caldo e bello stare in un giardino e
goderc un bel film. Tutta la famiglia va msicme ¢ qualche volta porta perfino 1l canc.
Pino e Franco sono due amici che discutono sul programma della sera. Franco ha voglia
di fare una passeggiata ma Pino ha molto lavoro in ufficio in questi giorni e la sera e’
proprio stanco. Non ha neanche voglia di mangiare quando torna a casa.

Oggi tutti preferiscono -—--------- .

1) il tcatro al cincma 2) 1l cincma al tcatro

3) il cinema alla television 4) la commedia al cinema

Abbiamo bisogno di piu” denaro per ---——-- .

1) comprare la televisione 2) andare al cinema

3) guardare la televisione 4) comprare 1 biglietti

In quale stagione ci sono molti cinema all'aperto?

1) D'estate 2) D'inverno 3) D'autunno 4) Di primavera
L'amico di Pino vuole fare una passeggiata perché non ha niente ---—-------.

1) per vedere 2) da farc 3) per leggere 4) pcer mangiarce
Franco non accompagna Pino perché ¢'--—————--—- .

1) triste 2) vecchio 3) ammalato 4) occupato
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